
6.7 Posons f(x) =
x

1 + x2
.

f ′(x) =
(x)′ (1 + x2)− x (1 + x2)′

(1 + x2)2
=

1 (1 + x2)− x · 2 x

(1 + x2)2
=

1− x2

(1 + x2)2

=
(1 + x) (1− x)

(1 + x2)2

−1 1

1 + x − + +
1− x + + −

(1 + x2)2 + + +
f ′ − + −
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0

0 0
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On constate en particulier que la fonction f est strictement décroissante sur

l’intervalle ]1 ; +∞[ .

Il en suit que f(1, 000000000003) > f(1, 000000000004)

c’est-à-dire
1, 000000000003

1 + 1, 0000000000032
>

1, 000000000004

1 + 1, 0000000000042
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